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3 f*\\*

ft:m%—ﬁ;-—mi% (% 391K, 41![@ 421 )

FS| 59 \BRER () |8t G | s G Fii
1 |39-1-101 . “91.2 11080 1010496 (ERE
2 | 39-1-102 92. 67 9880 915579. 6 %
3 |39-2-101 87.83 9880 867760. 4 £
4 |39-2-102 87. 83 9880 867760. 4 s
5 |39-3-101 87. 83 9880 867760. 4 FE
6 |39-3-102 87.83 9880 867760. 4 i
7 |39-4-101 92. 67 9880 915579. 6 =
8 |39-4-102 91.2 11080 1010496 G
9 |39-1-201 91.2 11280 1028736 £
10 | 39-1-202 92. 67 10080 934113.6 F=
11 | 39-2-201 87.83 10080 885326. 4 =z
12 |39-2-202 87.83 10080 885326. 4 (B
13 | 39-3-201 87.83 10080 885326. 4 (e
14 | 39-3-202 87.83 10080 885326. 4 (B
15 | 39-4-201 92. 67 10080 934113.6 (E:
16 | 39-4-202 91.2 11280 1028736 £
17 |39-1-301 91.2 11480 1046976 fFE
18 | 39-1-302 92. 67 10280 952647. 6 =z
19 |39-2-301 87.83 10280 902892. 4 et
20 | 39-2-302 87.83 10280 902892. 4 &
21 |39-3-301 87. 83 10280 902892. 4 =
22 | 39-3-302 87.83 10280 902892. 4 &
23 | 39-4-301 92. 67 10280 952647. 6 et
24 | 39-4-302 91.2 11480 1046976 Ect
25 | 39-1-401 91.2 11680 1065216 FE
26 | 39-1-402 92. 67 10480 971181.6 et
27 | 39-2-401 87. 83 10480 920458. 4 =
28 | 39-2-402 87.83 10480 920458. 4 =




B Go/m

PS5 BYS |BRER (nH HEBM GO Fi&
29 | 39-3-401 87. 83 10480 920458. 4 %
30 | 39-3-402 87.83 10480 920458, 4 FE
31 | 39-4-401 92. 67 10480 971181. 6 F=
32 | 39-4-402 91.2 11680 1065216 =
33 | 39-1-501 91.2 11880 1083456 £z
34 | 39-1-502 92. 67 10680 989715. 6 £
35 | 39-2-501 87. 83 10680 938024. 4 =
36 | 39-2-502 87.83 10680 938024. 4 £
37 | 39-3-501 87. 83 10680 938024. 4 %
38 |39-3-502 87. 83 10680 938024. 4 fFE
39 | 39-4-501 92. 67 10680 989715. 6 f£E
40 | 39-4-502 91.2 11880 1083456 FE
41 |39-1-601 91.2 12080 1101696 £
42 | 39-1-602 92. 67 10880 1008249. 6 et
43 | 39-2-601 87. 83 10880 955590. 4 e
44 | 39-2-602 87.83 10880 955590. 4 FE
45 | 39-3-601 87.83 10880 955590. 4 fFE
46 | 39-3-602 87. 83 10880 955590. 4 T2
47 | 39-4-601 92. 67 10880 1008249. 6 et
48 | 39-4-602 91.2 12080 1101696 FEE
49 |39-1-701 91.2 12380 1129056 e
50 | 39-1-702 92. 67 11180 1036050. 6 =
51 |39-2-701 87.83 11180 981939. 4 %
52 | 39-2-702 87.83 11180 981939. 4 £
53 | 39-3-701 87.83 11180 981939. 4 fFE
54 | 39-3-702 87.83 11180 981939. 4 £
55 | 39-4-701 92. 67 11180 1036050. 6 fF=
56 | 39-4-702 91.2 12380 1129056 F=
57 | 39-3-801 87.83 11380 999505. 4 et
58 | 39-3-802 87.83 11380 999505. 4 (e




FE| BY |[FlEHR (o) |HEEHN Go/o') | HEEN O A&
59 | 39-4-801 92. 67 11380 1054584. 6 £
60 | 39-4-802 91.2 12580 1147296 EEs
61 |41-1-101 91. 06 11080 1008944. 8 F=
62 | 41-1-102 92. 52 9880 914097. 6 (s
63 | 41-2-101 87.7 9880 866476 s
64 | 41-2-102 87.7 9880 866476 FE
65 | 41-3-101 87.17 9880 866476 FE
66 |41-3-102 87.17 9880 866476 FE
67 |41-4-101 92. 52 9880 914097. 6 Exs
68 | 41-4-102 91. 06 11080 1008944. 8 (s
69 |41-1-201 91. 06 11280 1027156. 8 £
70 | 41-1-202 92. 52 10080 932601. 6 FE
71 | 41-2-201 87.7 10080 884016 s
72 | 41-2-202 87.7 10080 884016 (X
73 | 41-3-201 87.17 10080 884016 =
74 | 41-3-202 87.7 10080 884016 (e
75 | 41-4-201 92. 52 10080 932601. 6 Exs
76 | 41-4-202 91. 06 11280 1027156. 8 EEs
77 | 41-1-301 91. 06 11480 1045368. 8 (EEs
78 | 41-1-302 92. 52 10280 951105. 6 £
79 | 41-2-301 87.17 10280 901556 FE
80 |41-2-302 87.17 10280 901556 £
81 |41-3-301 87.17 10280 901556 £
82 | 41-3-302 87.17 10280 901556 FEE
83 |41-4-301 92. 52 10280 951105. 6 =
84 | 41-4-302 91. 06 11480 1045368. 8 FE
85 |41-1-401 91.06 11680 1063580. 8 FE
86 |41-1-402 92. 52 10480 969609. 6 £
87 | 41-2-401 87.7 10480 919096 3
88 | 41-2-402 87.7 10480 919096 =2




F%| BS |BWEHRA (o) |HERN Go/m) [#EE0 GO Rl
89 | 41-3-401 87.7 10480 919096 FE
90 | 41-3-402 87.7 10480 919096 =z
91 |41-4-401 92. 52 10480 969609. 6 fF=
92 | 41-4-402 91. 06 11680 1063580. 8 Exs
93 | 41-1-501 91. 06 11880 1081792. 8 G
94 | 41-1-502 92. 52 10680 988113. 6 =
95 |41-2-501 87.7 10680 936636 EEs
96 | 41-2-502 87.7 10680 936636 F=
97 | 41-3-501 87.17 10680 936636 fiE
98 |41-3-502 87.7 10680 936636 £
99 |41-4-501 92. 52 10680 988113. 6 (B
100 | 41-4-502 91. 06 11880 1081792. 8 i
101 | 41-1-601 91. 06 12080 1100004. 8 (G
102 | 41-1-602 92. 52 10880 1006617. 6 (B
103 | 41-2-601 87.17 10880 954176 (s
104 | 41-2-602 87.7 10880 954176 =
105 | 41-3-601 87.17 10880 954176 et
106 | 41-3-602 87.17 10880 954176 f£8
107 | 41-4-601 92. 52 10880 1006617. 6 £
108 | 41-4-602 91. 06 12080 1100004. 8 FE
109 | 41-1-701 91. 06 12280 1118216. 8 e
110 | 41-1-702 92. 52 11080 1025121. 6 e
111 | 41-2-701 87.17 11080 971716 =8
112 | 41-2-702 87.7 11080 971716 et
113 | 41-3-701 87.17 11080 971716 fFE
114 | 41-3-702 87.17 11080 971716 £
115 | 41-4-701 92. 52 11080 1025121. 6 F8
116 | 41-4-702 91. 06 12280 1118216. 8 £
117 | 41-1-801 91. 06 12480 1136428. 8 et
118 | 41-1-802 92. 52 11280 1043625. 6 F=E




Y| BS |FER (o) |HEEN Go/o) | #HEEN OO Fig
119 | 41-2-801 87.7 11280 989256 FE
120 | 41-2-802 87.7 11280 989256 =
121 | 41-3-801 87.7 11280 989256 FE
122 | 41-3-802 87.7 11280 989256 s
123 | 41-4-801 92. 52 11280 1043625. 6 £
124 | 41-4-802 91. 06 12480 1136428. 8 £
125 | 42-1-101 91. 06 11080 1008944. 8 fFE
126 | 42-1-102 92. 52 9880 914097. 6 FE
127 | 42-2-101 87.17 9880 866476 (EEs
128 | 42-2-102 87.7 9880 866476 (Es
129 | 42-3-101 87.7 9880 866476 F=
130 | 42-3-102 87.7 9880 866476 Ect
131 | 42-4-101 92. 52 9880 914097. 6 FE
132 | 42-4-102 91. 06 11080 1008944. 8 =
133 | 42-1-201 91. 06 11280 1027156. 8 =
134 | 42-1-202 92. 52 10080 932601. 6 FE
135 | 42-2-201 87.17 10080 884016 et
136 | 42-2-202 87.17 10080 884016 &
137 | 42-3-201 87.7 10080 884016 £
138 | 42-3-202 87.7 10080 884016 &
139 | 42-4-201 92. 52 10080 932601. 6 {5
140 | 42-4-202 91. 06 11280 1027156. 8 fFE
141 | 42-1-301 91. 06 11480 1045368. 8 Exct
142 | 42-1-302 92. 52 10280 951105. 6 £
143 | 42-2-301 87.7 10280 901556 Ect
144 | 42-2-302 87.7 10280 901556 FE
145 | 42-3-301 87.17 10280 901556 £
146 | 42-3-302 87.17 10280 901556 G
147 | 42-4-301 92. 52 10280 951105. 6 (E=t
148 | 42-4-302 91. 06 11480 1045368. 8 Eat
149 | 42-1-401 91. 06 11680 1063580. 8 FE




]%Eﬂm(ﬁ)

FS| BS ([FUER (o) 4884 Go/m) Rl
150 | 42-1-402 92. 52 10480 [ 969609. 6 (et
151 | 42-2-401 87.7 10480 919096 e
152 | 42-2-402 87.7 10480 919096 (B
153 | 42-3-401 87.17 10480 919096 F=
154 | 42-3-402 87.7 10480 919096 fFE
155 | 42-4-401 92. 52 10480 969609. 6 fFE
156 | 42-4-402 91. 06 11680 1063580. 8 et
157 | 42-1-501 91. 06 11880 1081792. 8 fFE
158 | 42-1-502 92. 52 10680 988113. 6 (EEs
159 | 42-2-501 87.7 10680 936636 F=
160 | 42-2-502 87.7 10680 936636 (EE
161 | 42-3-501 87.7 10680 936636 fF=
162 | 42-3-502 87.17 10680 936636 FE
163 | 42-4-501 92. 52 10680 988113. 6 =
164 | 42-4-502 91. 06 11880 1081792. 8 S
165 | 42-1-601 91. 06 12080 1100004. 8 e
166 | 42-1-602 92. 52 10880 1006617. 6 (£
167 | 42-2-601 87.7 10880 954176 £
168 | 42-2-602 87.7 10880 954176 =
169 | 42-3-601 87.7 10880 954176 et
170 | 42-3-602 87.7 10880 954176 £
171 | 42-4-601 92. 52 10880 1006617. 6 (e
172 | 42-4-602 91. 06 12080 1100004. 8 et
173 | 42-1-701 91. 06 12280 1118216. 8 et
174 | 42-1-702 92. 52 11080 1025121. 6 FE
175 | 42-2-701 87.17 11080 971716 FE
176 | 42-2-702 87.7 11080 971716 =z
177 | 42-3-701 87.7 11080 971716 G
178 | 42-3-702 87.7 11080 971716 FE
179 | 42-4-701 92. 52 11080 1025121. 6 FE
180 | 42-4-702 91. 06 12280 1118216. 8 fF=




B2l BT |[BRER () |[fEEf Gi/m) | S GO %
181 | 42-1-801 91. 06 12480 1136428. 8 %
182 | 42-1-802 92. 52 11280 1043625. 6 (EEs
183 | 42-2-801 87.17 11280 989256 Es
184 | 42-2-802 87.7 11280 989256 £
185 | 42-3-801 87.7 11280 989256 FE
186 | 42-3-802 87.7 11280 989256 Es
187 | 42-4-801 92. 52 11280 1043625. 6 (G
188 | 42-4-802 91. 06 12480 1136428. 8 £




WAKEHT (BERE) —B—HR (390, 410K, 42i%)

5 BS WRER (m) |HERS Go/m) |HEes Go A&
1| 4iEHhTFE-1 2996. 32 5000 14981600 8% 2
2 | 39MEMITFE-1 7.99 5000 39950 it =
3| 39iEHL T E-2 12. 1 5000 60500 e =
4 | 39iEHL T =E-3 9. 49 5000 47450 et =
5 | 39fEH T =4 7.52 5000 37600 Tl =
6 | 39MEHLTE-5 7.25 5000 36250 e =
7 | 39MEMTFE-6 6.2 5000 31000 e =
8 | 39MEHL T E-7 11.77 5000 58850 e 25
9 | 39iEHL T E-8 5.16 5000 25800 e
10 | 39 T E-9 4.9 5000 24500 filrl =
11 | 39iEH T =-10 4.9 5000 24500 e =
12 | 39MEH T E-11 4.25 5000 21250 =
13 | 39MEHL T E-12 11.93 5000 59650 =
14 | 39MEHL T Z=-13 7.38 5000 36900 T =
15 | 39MEHh T =E-14 11.93 5000 59650 T =
16 | 39MEHL T E-15 7.31 5000 36550 {1
17 | 39iEHL F=-16 4.57 5000 22850 i, =
18 | 39MEM F=-17 7.46 5000 37300 iR =
19 | 39iEHh FE=-18 11. 77 5000 58850 i, =
20 | 39lEHL T E-19 6.2 5000 31000 fE =
21 | 39MEHL T E-20 7.29 5000 36450 =
22 | 39MEMh T E-21 7.52 5000 37600 ek ok ==
23 | 39MEHh T %E-22 4.24 5000 21200 i 788 32
24 | 39MEHN T =-23 4.9 5000 24500 e 9 =
25 | 39MEHL T E-24 4.9 5000 24500 8=
26 | 39MEHL N =25 5.16 5000 25800 ik 7o =
27 | 39iEMh T =-26 8.2 5000 41000 fift B =
28 | 39mEH T =-27 12. 41 5000 62050 il 8% =




FF 4 BE BWER (m') |[#HERN Go/o) |[#EEHN GO Flig
29 | 39MEHL T E-28 8.97 5000 44850 fek5eR =
30 | 39mEHh T = -29 12. 52 5000 62600 T =
31 | 39iEHh T =-30 13. 26 5000 66300 T =
32 | 39MEHL T E-31 13.26 5000 66300 T =
33 | 39iEHh T =-32 12. 52 5000 62600 i =
34 | AlMEHh T E-1 6.74 5000 33700 figiek =
35 | 41MEHLF=E-2 5. 03 5000 25150 T
36 | 4l =3 5. 39 5000 26950 il =
37 | AlMEH =4 10. 54 5000 52700 i =
38 | Al T E-5 8.12 5000 40600 el =
39 | 4lMEHL TN E-6 6. 96 5000 34800 i =
40 | 41iEH T E-T7 5. 29 5000 26450 ek =
41 | 41MEHL T %8 5. 64 5000 28200 ekl =
42 | 41iEHLRE-9 4.75 5000 23750 Tt =
43 | 4liEh T E-10 6.01 5000 30050 Tl =
44 | 41MEHD TR E-11 6. 14 5000 30700 fegil =
45 | 41MEH T E-12 5. 31 5000 26550 fitii =
46 | A1MEHL T E-13 9. 29 5000 46450 i, %
AT | 41TEHE TR =-14 13.2 5000 66000 it =
48 | AlfEM T E-15 10. 28 5000 51400 fi o =
49 | 411EH T E-16 5.83 5000 29150 fE =
50 | AlMEHh T =E-17 4.74 5000 23700 it =
51 | 41WEHL R =-18 9.78 5000 48900 il ek =
52 | 4llEHE R =-19 5. 49 5000 27450 fig oL =
53 | 41iEH T~ =-20 9.43 5000 47150 it =
54 | 41iEH T =-21 10. 19 5000 50950 fiti o =
55 | 4liEHh T =-22 5.78 5000 28900 fili ek =
56 | AlMEH: T =E-23 5. 43 5000 27150 il il =
57 | AlMEEH T =E-24 9. 63 5000 48150 1 8 =
58 | 41MEH T =-25 9. 53 5000 47650 T i =




P58 55 WRER () |HERN Go/m) [(HELHN GO R
59 | 41iEH R E-26 5. 44 5000 27200 T =
60 | 41MEHL T =-27 12. 46 5000 62300 ek 8L, =
61 | 41iEH T =-28 5. 52 5000 27600 feli i =
62 | 41MEHLF =-29 5.81 5000 29050 IR =
63 | 4lMEHh T =-30 5. 81 5000 29050 R =
64 | 41iEH T =-31 7.12 5000 35600 el 8 =
65 | 4lifEdh T E-32 8.12 5000 40600 i 8 2
66 | 41MEHL T =-33 10. 44 5000 52200 fifi o =
67 | AliEHh T =-34 13. 26 5000 66300 fil il =
68 | 41MEHL T =-35 13. 26 5000 66300 i =
69 | 420EH T E-1 6. 72 5000 33600 il =
70 | 420EHh T E-2 5.01 5000 25050 fif il =
71 | 420EH T E-3 5.37 5000 26850 Tt =
72 | A2MEHh T E-4 10. 79 5000 53950 et =
73 | 420EH T E-5 8. 24 5000 41200 iR =
74 | 421EH T E-6 7.06 5000 35300 f =
75 | 42lEH T E-T7 6. 01 5000 30050 fig il =
76 | A2iEH T E-8 6.13 5000 30650 it el =
77 | 420 T E-9 5. 31 5000 26550 fifi k=
78 | 420EHL T E-10 9.29 5000 46450 i 8L 2
79 | 42WEH T E-11 13. 2 5000 66000 fEsR =
80 | 42iEHh F=E-12 5.29 5000 26450 fifiil =
81 | 42iEHL T =-13 5. 64 5000 28200 fifi i =
82 | 42WEHL N =14 4. 75 5000 23750 fifi 5ok =
83 | 42iEH T =E-15 9.78 5000 48900 i 58 2
84 | 421EM T =-16 5. 49 5000 27450 fifi 80 =
85 | 42f@Hh T =-17 9. 43 5000 47150 fiff i =
86 | 42MEHL T =-18 10. 28 5000 51400 1 88, 2.
87 | 421 T =E-19 5. 83 5000 29150 il il ==
88 | 42iFEH T E-20 4.74 5000 23700 il =




5 BS BWER (o) |HERS Go/m) | #HEEH G Fig
89 | 42iEHh T =E-21 9.53 5000 47650 itk =
90 | 42iEHh T E-22 9.43 5000 47150 fitik =
91 | 421&H F=-23 5. 39 5000 26950 fit ek =
92 | 42MEHE N E-24 12. 38 5000 61900 il e
93 | 42mEH T =-25 10. 09 5000 50450 fif et =
94 | 421EHL T =-26 5.73 5000 28650 Tt el =
95 | 42WEHL R =-27 5. 37 5000 26850 et e =
96 | 42iEHh T =28 7.13 5000 35650 Tl =
97 | 42MEHL R E-29 8.12 5000 40600 R E
98 | 42EHL T = -30 10. 35 5000 51750 =
99 | 42MEH T =-31 5. 52 5000 27600 Tl =
100 | 421 Hh T = -32 5.81 5000 29050 A=
101 | 42&EHh T =E-33 5. 81 5000 29050 T =
102 | A20EHh T =E-34 13. 26 5000 66300 et =
103| 420EHh FE-35 13.26 5000 66300 il =




WAKBHT (EAD) —BE—#h3E

F5| BY | BRER () | SERN G/ | HEE GE Fii
1 420 32. 41 120000 120000 Xy,
2 421 32. 41 120000 120000 LA
3 422 32. 41 120000 120000 £ A
4 423 32. 41 120000 120000 Ehr
5 424 32. 41 120000 120000 AL
6 425 32. 41 120000 120000 A1
7 426 32. 41 120000 120000 VA
8 427 32.41 120000 120000 LA
9 428 32. 41 120000 120000 £ A
10 429 32. 41 120000 120000 EAL
11 430 32. 41 120000 120000 L1V}
12 431 32. 41 120000 120000 AL
13 432 32.41 120000 120000 Efr
14 433 32. 41 120000 120000 ZAL
15 434 32. 41 120000 120000 AL
16 435 32. 41 120000 120000 AL
17 436 32.41 130000 130000 Efr
18 437 32. 41 130000 130000 LA
19 438 32. 41 130000 130000 LA
20 439 32. 41 130000 130000 LY TA
21 440 32. 41 130000 130000 LA
22 441 32. 41 130000 130000 L2 TA
23 442 32.41 130000 130000 AL
24 443 32. 41 130000 130000 AL
25 444 32.41 130000 130000 AL
26 445 32. 41 130000 130000 Ay
27 446 32. 41 120000 120000 LA
28 447 32. 41 120000 120000 /i)
29 448 32. 41 120000 120000 Hhr




FS| BS | RUER (n*) | 48890 Go/4) HERM (D | AR
30 | 449 32. 41 120000 120000 /| Ef
31 450 32. 41 120000 7 120000. 4y
32 482 48. 61 130000 130000 EAhr
33 483 32. 41 120000 120000 AL
34 484 32. 41 120000 120000 Lys
35 485 32. 41 120000 120000 EAz
36 486 32. 41 120000 120000 ZEAL
37 487 32.41 120000 120000 AL
38 488 32.41 120000 120000 EAr
39 489 32. 41 120000 120000 L= ivg
40 490 32. 41 120000 120000 Efr
41 491 32.41 120000 120000 ZEfr
42 492 32.41 120000 120000 T
43 493 32. 41 120000 120000 AL
44 494 32. 41 120000 120000 X1}
45 495 32. 41 120000 120000 LA
46 496 32. 41 120000 120000 L)
47 497 32.41 120000 120000 L TA
48 498 32. 41 120000 120000 L TA
49 499 32. 41 120000 120000 LY 7A
50 500 32. 41 120000 120000 ¥ 7A
51 513 32. 41 120000 120000 LA
52 514 32. 41 120000 120000 Fhr
53 515 32. 41 120000 120000 AL
54 516 32. 41 120000 120000 LA
55 517 32. 41 120000 120000 LA
56 518 32.41 120000 120000 E:2¥7A
57 519 32. 41 120000 120000 LA
58 520 32. 41 120000 120000 Zfr
59 521 32. 41 120000 120000 ZEAL
60 522 32. 41 120000 120000 ZEhr




FS| BS | BlER (o) | $880 T/ | BEEN G A&
61 523 32. 41 120000 120000 EAr
62 524 32. 41 120000 120000 AL
63 525 32. 41 120000 120000 AL
64 526 32. 41 120000 120000 L TA
65 527 32.41 120000 120000 AL
66 528 32. 41 120000 120000 LY IVA
67 529 32. 41 120000 120000 Y2
68 530 32. 41 120000 120000 ZEfy
69 531 32. 41 120000 120000 LN 174
70 532 32. 41 120000 120000 LA
71 533 32. 41 120000 120000 i)
72 534 32. 41 120000 120000 i)
73 535 32. 41 120000 120000 L)
74 536 32. 41 120000 120000 Ehr
75 537 32. 41 120000 120000 iV}
76 538 32. 41 120000 120000 LA
77 539 32. 41 120000 120000 FAr
78 540 32. 41 120000 120000 LA
79 541 32. 41 120000 120000 LA
80 542 32. 41 120000 120000 V]
81 543 32. 41 120000 120000 LA
82 544 32. 41 120000 120000 i3
83 545 32.41 120000 120000 kUi
84 546 32. 41 120000 120000 T
85 547 32.41 120000 120000 LA
86 548 32. 41 120000 120000 Hhr
87 549 32. 41 120000 120000 AL
88 550 32. 41 120000 120000 L
89 551 32. 41 120000 120000 E: A
90 552 32.41 120000 120000 A
91 553 32. 41 120000 120000 A




F%| FS | FlER () | #88a) G/ | S8Eah G Hi&
92 554 32. 41 120000 120000 L TA
93 555 32. 41 120000 120000 EAhr
94 556 32. 41 120000 120000 L 7A
95 557 32. 41 120000 120000 LA
96 558 32. 41 120000 120000 AL
97 559 32. 41 120000 120000 Ehr
98 560 32. 41 120000 120000 AL
99 573 32. 41 120000 120000 LA
100 574 32. 41 120000 120000 L I7A
101 575 32. 41 120000 120000 A1
102 576 32. 41 120000 120000 L 7A
103 577 32.41 120000 120000 iV
104 578 32.41 120000 120000 LA
105 579 32.41 120000 120000 L TA
106 580 32.41 120000 120000 A
107 581 32. 41 120000 120000 YA
108 582 32. 41 120000 120000 kY2
109 583 32. 41 120000 120000 A
110 584 32.41 120000 120000 LA
111 585 32. 41 120000 120000 LA
112 586 32. 41 120000 120000 E:2¥ A
113 587 32. 41 120000 120000 LA
114 588 32. 41 120000 120000 L2
115 589 32. 41 120000 120000 L2
116 590 32. 41 120000 120000 LA
117 591 48. 61 130000 130000 E:¥)A
118 592 32. 41 120000 120000 A
119 593 32. 41 120000 120000 LA
120 594 32. 41 120000 120000 LA
121 595 32. 41 130000 130000 Hhr
122 596 32. 41 130000 130000 LA




Fg| BS | BlEHR (n) | HEaH8 G/ | gEEN OB A&
123 597 32. 41 130000 130000 £
124 598 32. 41 130000 130000 A
125 | 599 32. 41 130000 130000 Efir
126 600 32. 41 130000 130000 Ehy
127 601 32. 41 130000 130000 = hy
128 602 32. 41 130000 130000 Vs
129 603 32. 41 130000 130000 )4
130 604 32.41 130000 130000 EAL
131 605 32. 41 130000 130000 Ehr
132 606 40. 51 130000 130000 #hy
133 607 40. 51 130000 130000 i)
134 608 32. 41 130000 130000 %y
135 609 32. 41 130000 130000 AL
136 610 32. 41 130000 130000 X172
137 611 32. 41 130000 130000 A
138 612 32. 41 130000 130000 AL
139 613 32. 41 130000 130000 Zfr
140 614 32. 41 130000 130000 AL
141 615 32.41 130000 130000 ZEfr
142 616 32. 41 130000 130000 X i7A
143 617 32. 41 130000 130000 LA
144 618 32. 41 130000 130000 LA
145 619 32. 41 130000 130000 LAy
146 660 32. 41 130000 130000 Zfir
147 661 32. 41 130000 130000 LA
148 662 32.41 130000 130000 LA
149 663 48. 61 130000 130000 Fhr




